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B RS R R 0.18% 0.22% 0.04%¢
BABEF R 2.96% 3.45% 0.49%1
NS L HA R 25 0.12% 0.16% 0.04%1
B AR 2 HA 25 2 2.09% 2.51% 0.42%1

CEN. REERBINRE=REMND REEBEBFRIEREZRO FEHESx100
2. EARENRE=REMND MEEEFHES*100
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=LHRRE (BEIR) MEE(BEBBFRIERRYERO FHES <100

4. BRLHMA DR =HHRFRE B3R MEEHEFHES*100
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X % TRI0EE SHTEE B
N I 47.03% 48.83% 1.80%1
BFrEER
Hdh 47.05% 48.86% 1.81%1
s # X 3.63% 2.25% A1.38%1
Brif s
HhE 3.26% 2.25% A1.01%1
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R =BHEERS FEEEx100

2 WMEERWHIPEY) =BHETHES IS FHEEx100

3. BTEEE (#]

K)=FHMEHEZS ITEES*x100

4. BPEEER (BAh 1) =F WA HTFHES & THES*100
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